31.

32,

33.

34.

35.

PART - II

(GENERAL STUDIES)

Highest Mountain peak of India is known as
(A) Everest

B) K-2

© Kanchenjunga

(M) More than one of the above

(E) None ofthe above ‘

Indian continent was earlier part of
(A) Gondwanaland

(B) Pangea

(©) Tethys

(D) More than one of the above
(E) None ofthe above

Who led the Revoltof 1857 in Bihar?
(A) TatyaTope B e

(B) Nana Saheb=

(©) Kunwar smgtg‘i;g
(D) Morethan oneofthe above

(E) Noneofthe a:;fll')"‘ve

36 spiritual side qgnatx:onalism was voiced
A)
®)
©
()
®)

Raja Ram Mohan Roy
Swami Vivekananda
Swami Shraddhanand
More than one of the above
None of the above

Which newspaper propagated strong
nationalist views during India’s freedom
struggle?

(A) Pioneer

®B)
©
D)
E)

Statesman

Amrit Bazar Patrika

More than one of the above
None of the above
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36.

37.

38.

39.

40.

Who intervened in a dispute between the

workers and mill owners of Ahmedabad in
19182

(A) Vallabhbhai Patel

(B)  Jamshedii Tata

(C) Mahatma Gandhj

(D) More than one of the above
(E) None of the above

Name the left-wing leader of Bihar Provincial
Kisan Sabha who popularised this in Bihar?
(A) Karyanand Sharma

(B) P.C.Joshi

(C) WadhwaRam

(D) More than one of the above

(E) None of the above

Muddiman Committee was appointed to
report on the working of the

(A) Dyarchy

(B) Federalism

(©) Communal representation

(D) More than one of the above

(E) None ofthe above

“He was a great unifier in India who taught
us not only bare tolerance of others but the
willing acceptance of them as our friends and

comrades in common undertakings” who
said it?

(A)
®)
©
D)
E)

Subhash Chandra Bose
Rajendra Prasad
Balgangadhar Tilak

More than one of the above
None of the above

Who proceeded to organise the Provisional

Government of Free India outside the
country?

(A) RajaMahendra Pratap

(B) Subhash ChandraBose
(C) RashBehari Bose

(D) More than one of the above
(E) None ofthe above

ER[E
o
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41.

42.

43.

44,
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A player makes 7 complete revolutions of a
circular path to complete a race of 2200
metres. The radius of the circular path is :

-3

42 metres

50 metres

(C) 45metres

(D) More than one of the above
(E) Noneofthe above

®)

If the capacity of a cylindrical tank is 1848 m?
and the diameter ofits base is 14 m, the depth

22
ofthetankis:( =7)

A)
®)
©
D)
®

8m

16 m

12m

More than one

‘%above
None of the abos

1 . N
If§‘h ofanumberis3 what will be 62% of
that number? el

(A) 181.3
B) 148.8
©
D)
(2)

178.24

More than one éjﬁﬁé above
None of the above

The salary of an officer s increased by 25%.
By what percent should the new salary be

decreased to restore the original salary?
A) 25

B) 20

© 225

(D) More than one of the above
(E) None ofthe above

14

45,

46.

47.

48.

| o

.By what number should ( - ) be divided

(%)

-2
4
so that the quotient is (5) ?

A) 3

3

2
2

3

More than one of the above
None of the above

B)

©

D)
E)

1 : 1
If x+;= S, whatis the value of x* +

—?
x4
(A) 525

B) 529

©) 527

(D) More than one of the above

(E) None of the above

A bag contains 5-rupee, 2-rupee and 1-rupee
coinsintheratio2: 3 : 4. The total value ofall
the coins is ¥2,000. How many coins of
2-rupee are there in the bag?

A) 200

B) 400

©) 250

(D) More than one of the above

(E) None of the above

The interiorangle ofaregular polygonexceeds
its exterior angle by 108°. How many sides
does the polygon have?

A) 10

®) 8

© 9

(D) More than one of the above

(E) None ofthe above

EEE
e
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49.

Zinc Oxide is normally used in the
manufacture of

. (A) Paints

S0.

S1.

52.

‘53,

(B) Solvents

(C) Explosives

(D) More than one of the above
(E) None ofthe above

Lenz’s law is derived from the law of
conservation of;

(A) Magnetism

(B) Charge

(©) Momentum )

(D) More than one of the above

(E) None ofthe above '

Glycogen stored in liver and muscles of human
body is in form of <z

(A) Monosaccharide = &
(B) Protein
(C) Polysaccharide” 4l
(D) Morethan one 5T the above
(E) Noneofthe abé__,fjéii—,;é (s

In which of the followm lood has defective
haemoglobin?

(A) Haematoma zg_:—%
(B) Haemophilia .

(C) Sicklecell Anaemia

(D) More than one of the above
(E) None ofthe above

YTy
In which of the following medicine production,
ethyl alcohol can be used?
(A) Antiseptic
(B) Anti-allergic
(C)  Antipyretic
(D) More than one of the above

iy

- (E) None of the above
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4.

SS.

56.

ST

S8.

" According to the recent report of forbes,

Velocity of sound at 15°C and 380mm
pressure is 340m. sec”!. If the pressure is
doubled without change of temperature, the
velocity of sound would become

(A) 680m.sec™!

(B) 190m. sec
(C) 170m. sec™!
(D) 340m. sec™!

(E) None ofthe above

Ifabacterium cell divides in every 15 min,
how many bacteria will be formed in 2 hours,
A 8

B) 64
© 16
@) 256

(E) Noneof the above

Plants and animal cell differ in which of the
following structure?

(A) Enzymes

B) Cellwall

(©) Nuclei

(D) More than one of the above
(E) None of the above

which is the strongest currency in the world?
(A) OmaniRial

(B) BahrainDinar ’
(C) Kuwaiti Dinar

(D) More than one of the above
(E) Noneoftheabove ‘ ' s

In which city of Maharashtra did PM
Narendra Modi launch 8 AMRUT projects?
(A) Kollam

(B) Solapur

(C) Baroda

(D) More than one of the above

(E) Noneoftheabove

=R
-
Ofz




§9.  IITMadrashas tiedup withwhomto launch - -'65. - -Mangrove forest of Ganga Delta is called

¢ Mobility Simulation Lab? : (A) Sunderban
(A) Altair (B) Surendranagar
(B) Farber Speciality Lab (C) Sundergarh :
(C) Starlink (D) More than one of the above
(D) More than one of the above (E) None ofthe above

(E) None ofthe above R GRCLTY
60. Who won the Best Actor Award at the 66.  Whichriver s frequently changmg Its course

Academy Awards 2024 (Oscars)? o/i'ﬂovgn %‘h;r

(A) Dwayne Johnson gB)) P;]n u‘;

B) Tom Cruise ©) Koin)

\©)"" Cillian Murphy (D) More than one of the ab

(D) Mare than one of the above E Noneofthe at otthe above
E) None of the above TG

61. Who was recently selected as the ICC - 67. “ Plantroots gets water from soj] as -

Women’s T20i Cricketer of the year 20237 (A Boundwater
(A)  Smriti Mandhana (India) (B) Capillary water
(B) Hayley Mathews (West Indies) (C) Hygroscopic water
(C) NatSeiver-Brunt (England) (D) More than one of the above
(D) More than one_;oéthe above (E) None ofthe above

I»rﬂ’

(E) Noneofthe abo

68. How much equatorial diameteris . erthan
62. Who was Crowned Miss World 2024 in polar diametgr? =
Mumbai? ST |

A) 36km
(A) MissCzech Knsgga Pishkova @)

(B) Miss Lebanon%asmma Zaytoun ?(3:)) jg kkrr?l
() MissIndia Sinigtpty (D) More than one of the above
(D) More than one o@e above (E) None ofthe above
(E) None of the abgveZ
63.  Inwhich country will tg{_ﬁmn Energy Investor 69. The Indian Standard Time (IST) istaken at
Forum be organised by IPEF? which longitude -
(A) France (A) 82.5°E
(B) Spain (B) 87.5°E
(©) Singapore (© 78.5°E
(D) More than one of the above | (D) More than one of the above
(E) None ofthe above (E) None ofthe above

64. India has acquired the rxght to operate the

70.  InIhdia ‘Greenrevolution’ is known to credit
foreign Sittwe Port, it is in which country? )

to whom?
((g)) S/}]m (A) Dr.V.Kurian
© Baigladesh ' (B) Sri.S.L. Bahuguna
C) DrMS. i
(D) Morethanone of the above (€) Dr.M.S. Swaminathan

(D) More than one of the above

(E) None oftheabove (E) None ofthe above

- ol+ig
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71.

s

PART - III
(MATHEMATICS) |
How many rods of diameter 10 cm and length 74.  The product of roots of the quadratic equatlon
1.4 m will be formed by melting arod of radius 232 +5V3x 46 =0 is
7cmand length 10 m.
A 12
A) 14 ®) 5
®) 20 © 3
© 18 (D) More than one of the above
(E) None ofthe above
(D) More than one of the above
(E) None ofthe above 75. Ifthe diamter of a wheel of a cycleis 70 cm,
in 1720 rounds it will cover
(A) 3784m
The side of aregular hexagon is 8 m. Then its B) 1892m
1 o
arean ;?5 © 7568m
(A) 10043 mzf&%: (D) More than one of the above
?;% (E) None of the above
®) 963 m* {3
%? 76.  Onselling 20 chairs, Hari gets a profit equal
©) 9043 m?

(D) Morethan %M the above
(E) None ofthe above

Ifthe length of a cylindrical pipe is 70 cm and
its diameteris 2.2 cm, and 1 cm?® of the pipe
weighs 10 gm, then its weight is

(A) 2662gm
(B) 3517gm
(C) 1662gm

(D) More than one of the above

(E) None ofthe above
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to the selling price of 5 chairs. The percentage
of gainis

1
A) 333%

1
B) 665%

2
©) 66-3- %

(D) More than one of the above
(B) None ofthe above

0
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77. A conical tent of height 24 m and radius of -

its base 7 m is required to cover by cloth. If
breadth of the cloth is 50 m, then its length is

A) 9m
B) 1Zm
©) 1lm

(D) More than one of the above

(E) None ofthe above

78. The compound interest of an amount for 2
years with an interest 4% per year is ¥ 2,448.
Then the simple interest of that amount with
same interest rate and for same 2 years-is :

&) 72,500
®) 2,300
(©) 2,400
(D) Morethanone above
®

79. In 200 It mixture of fiilk and water, the
amount of water is 15%. The amount of milk
that is required to be added into the mixture

_so that the amount of milk will be 87.5% is

- (A) 361t
B) 401t
(C) 351t

A1

(D) More than one of the above
(E) None of the above
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80. .

81.

Three metalic balls of radius 6, 8 and r cm

respectively are melted and a new ball is
formed. Ifthe radius of the new ball is 12 cm,
then the value of 7 is

(A)  10cm

(B) 8cm

© 9cm .

(D) More than one of the above
(E) Noneofthe above

A and B complete a work in 12 daysand 15
days respectively. They worked for 4 days
together and then A left. The remaining portion

of the work will be completed by B in -

' @A) . 2% days

82.

B 18%

(B)‘ 6 days
25
© 3 days

(D) More than one of the above
(E) None ofthe above

If the rate of sugar is increased by 25%, in
order to not increase the expenditure on sugar |
aconsumer has to reduce the use of sugar.

A) 10%

©) 20%

(D) More than one of the above

(E) Noneofthe above



83. ' Asquareofarea 121 e is made by acopper 86.

Digging price of a tube well of depth 280 m
* wire. If a circle is made with the same wire,

and diameter 3 m with the rate ¥ 3.60/ cubic
thenitsradius is meteris
(A) Tom | A) 7,128
®) 1llom B) 7,282
‘ © 10em () 2,728

(D) More than one of the above (D) More than one of the above

(E) None ofthe above (E) None ofthe above

84. Ifradiusofacircleisincreased by 50%, then 87.  The number that reduces the ratio 49 : 68 to A
its area will be increased by the ratio 6 : 7 by adding to each of the number /'
" of the ratio is *
A) 50% == ,
oy e |
®) 125% P e
, ® 75
©) 5% =i ;
o © s
(D) More than one %i;tgg above ‘
. e (D) More than one of the above
(E) Noneofthe ab5%§
i (E) None ofthe above
85. ‘Areasof two similar triangles are 81 cm?and
49 cm? respectively. The ratio of their 88. If40% of 25% of a number is 80, then its ,
corresponding heights is 60% is i
@) 7:9° &) 480 Q
B) 81:49 ®B) 400 - — ‘
© 9:7 e _ (C) 450

(D) More than one of the above (D) More than one of the above

o . (E) Noneofthe above (E) Noneofthe above

: ol
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89. If A, B and C complete'a work in 30 days.
- and A'and B complete it in 50 days working
+ together. Then C alone will complete it in

92.: i The quadratic equation whose roots are
. reciprocal of the roots of ax? + bx +c=01s

{ A) cxt+bx+a=0
(A) 60days
B) ax®>+cx+b=0
B) 80days
©) bx*+cx+a=0
(©) 7Sdays
A ’ (D) More than one of the above
(D) More than one of the above
(E) None ofthe above
(E) None ofthe above
93.
90.

The remainder when x2 + 1 is divided by
The ratio of ages of father and sonis 5: 2. If :

x+1is
the difference of their ages is 27 years, then N
the age of father after 6 years will be Ay 0. .
(&) 49years £ y ®) -1
B) 51years E"‘% > ©) 1
(C) 45years & .

]Il”mﬂl i

pl‘&q
il

M (D) More than one of the above

—_—

(D) More thanonéofthe above

e
==
==
—

(E) None of the above
(E) Noneof tféf_gv ' -

n

W“Ew
finm

kK

94. The sum of all the integers from 21 t0 100 is

91. The value ofx that satisfies x* = 7:+49 {5 (A) 5050
4 7 B) 4840
®) 21 ‘ (C) 4860 X
© 49

. (D) More than one of the above
(D) More than one of the above

(E) None of the above
(E) None ofthe above
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JoJes _ ] 98. The rational number in the ;et of numbers
95. Thevalueof

J00s 8 | 4, 2, , J12_7} i
(A) 120 = :
A 2
®) 1200 .
© ®) 127
240
© 2

(D) More than one of the above

(D) More than one of the above
(E) None ofthe above

(E) None ofthe above

96. a®*—bisequalto 99. The HCF of 2x* + 2x, x2+ 1, x* — 1 is
(A) (a—b) —3ab(a-b) s ) e T
1 .
®) (a+b) —3ab@Fd) 5

- ©€) 2+1
(C) (a=b) +3ab(a==b »

: | ot (D) More than one of the above
(D) Morethan onq:;ofﬁ;p;e above (E) Nonéoftheabove

L

e

o}

i

S
(E) Noneofthe ab%ﬁ

=i
=%,
=

Eﬁsé 100. 1f—>=3, thenvalue of = i |
ol . — _~7,thenvalueof 7 1s |
97. Ifthe equation x* + X(2x & m) + 12 = 0 has -y Y ;{
equal and real roots, then the value of m is . }
‘ A) = %
@A) 12 @A) 25
® =1 |
® 3
(C) -12
2
(D) More than one of the above © 1

(E) Noneofthe above”'~ 1"

yoed Ry

(D) More than one of the above

(E) None ofthe above

| oo
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101. The value of sin>40° + sin? 50%is,

102.

103. The shadow of ag()

104.

@A) 1

B) 2sin?40°

© o

(D) More than one of the above
(E) None ofthe above

The value of

is

A n sin x
® 0

©)  sinx - AN
(D) More than one of the above_
(E) None ofthe above

nuﬁdﬂ

0.metre long tower is
100+/3 - Then the anglebetween the shadow
and upper end of t%%er is v

(A) 60°

®) 30°
© 45°

D) More than oﬁthe above
(E) Noneofthe above

=

Cosine of sumof an angleand its supplementary

angleis
A 1
®B) -1
© o

R ad F I e
.5 s n\!' ‘i, ‘ .
(D) More than one of the above

(E) Noneofthe above

12/MAV/M-2024-09/S-309-G

sinx sin(27 +x) sin(4n +x) ....... sin(2nm+x)

30

N\

105. The value of

106.

107.

- (©

cos’d . -
——+sind is
sin@

A)
B) tan@

sec O N

cosec @

D)

More than one of the above

(E) None ofthe above

1-sing

The value of i
e value o 1+5ing 1sequal to

(A) secH-tan@

B)=.tan O—sec

(© seco+tmd ' ©

((9)] More than one of the above
(E) None ofthe above

Ifcos 50°= 0.6428, then the valye of sin40°is

A 1

®) 06428 .

© o

(D) More than one of the above':
(E) None ofthe aboye

e
A

&
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S 00 111.  If the median and mean of a frequency
c0s90°+sin0° | :

108. The value of is o . distribution are 28 and 30 respectively, then
' : cot30° the mode is

1 (A) 24
@) 3

B) 16

® 1 p (C) 34

< o (D) More than one of the above
(D) More than one of the above (E) None ofthe above

(E) None oftheabove

112. ProbaBil_ity of getting a number which is
divisible by 2 and 3 from the set of natural

109. Ifsin A+ sin? A=1,thencos’A+cos*Ais ' numberis
@ 1 e @ 3
® 2 oy 1
£ F= et
| © 1 B ® 3
(D) Morethan o f'the above L
€ = 2

) vﬁ%’?

110. ‘The value of sin? 30°+ 2tan? 60°— 5cos45°is ® Nonooftheabove e
w 7
4 [ 113. Therelation between AM, GM and HM is
15 | (A)° AM>GM>HM
® 7 : o
B) AM>GM<HM %
© 4

(C) AM<GM<HM
(D) More thanone of the above

(E) None of the above (D) More than one of the above

(E) None ofthe above

EIEEI
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116.

114. The mean value of squares of first 7 natural -

numbersis

n(n+1)
2

(n+1)(2n+1)
6

n(n+1)(2n+1)
6

(D) More than one of the above
®)

None of the above

115. Probability of getting six different faces by

throwing six diesis

)

A)

(o))
=N

||“||U|

!

I
il

® 1

IIlllllltllli
i ann

LT

©

D)
®)

More than @' the above
None of mefgfijve

£

-

1

If a coin is tossed twice, the probability of
getting at best one head is
1 R

@ 7

1
(B)g

3
€ 3

(D) More than one of the above

)
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None of the aboye

34

117." ‘A’husband and wife appear in an interview

118.

119.

for two vacancies in the same post. The

probability of husband’s selection is — and

7

1
that of wife’s selection is -5- Then the

probability that both of them are selected is

12
A) 35

11
35
i
35 "
More than one_of the above
None of the above

®)

©

D)
®)

The mode of the sets of the values 11, 13,
15,13,17,19,17is

A 17 -

®) 15

© 13

(D) More than one of the above

(E) None ofthe above

et gzl

1
The probability that A solves a problem s )

i
and that of B is 3 The probability that the

problem s solved is

A)
®)

©)

®)
(E)

al— Alnn w|=

More than one of the above
None of the above

I:EE%
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120. The medianofthedata3,7,2,5,7,1,9,6, 123. Amansellsanarticle ataprofitof 25%. Ifhe

Sis had bought it at 20% and sold it for 7 10.50
@A) 5 less, he would have gained 30%. Then the
®) 9 : cost price of the article is
© 7 (A) T 50
(D) More than one of the above
(E) Noneoftheabove B) T30
' (C) %40
121. Findtheareaofthe shaded region, if the radius
of eachcircleis 1 cm. (D) Morethan one ofthe above
(E) None of the above
124. A manrows 30 km downstream and 18 km
’ upstream taking 5 hours each time. Then the
@A) (4-7)em? ‘ velocity of the current is
® (5-n) (A) 2.1kmh
B) 3.1km/Mh
O (2-Br)om? = C) 12kmwh
© (2-+3n) m_{_;_% ©
(D) Morethan onegofihe above (D) More than one of the above

(E) Noneoftheabove (E) None of the above

=

122. If4 menand 7 womén'can do a work in 60
days. Then inhow mmygdﬁys will 8 menand

0 - 125, The ratio of water that is added to spirit to
7 women finish the same work? gain 25% by selling it at cost price is
A) 40da
*) & A) 1:4
(B) 20days
B) 3:4
(C) 30days
© 4:1
(D) More than one of the above '

(E) Noneoftheabove (D) More than one of the above

(E) None ofthe above

EIEEI
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126. 1f 11 pencils are bought for T 10 and 10
pencils are sold for ¥ 11; then the gainis:

(A) 18%
®) 21%
©) 16%
D) More than one of the above

(E) Noneoftheabove

127. 1f each of the dimensions of a rectangle is -
increased by 100%, then its areais increased

by

A) 100%

B) 400% =)
(C) 300% %

E

(D) More than ogg,_éi%%ﬂle above -
(E) Noneof theﬁe
z

=i

128. Theheight ofaconeis4.8 cmandthe diameter
-of its base is 4 cm. Then the slant height of it
'S .
(A) 42cm
B) 62cm

(©) 5.2cm

(D) More than one of the above
(E) None ofthe above
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129, If perimefef'df a circle is equal to the
perimeter of a square, then ratio of their areas
i
A) 14:11
B) 11:14
© 13:10
. (D) More than one of the above

(E) Noneoftheabove

|

130. Themeanoffive nmnéersis_i& If one number

is excluded their mean is 16. Then the
excluded numberis

A) 25
® 27
©) 26
(D) More than one of the above

(E) None of the above

131, 1£80% of A=50% of B and B =x % of A.
" Thenthe value of x is

(A) 400
B) 160
(©) 300
(D) More than one of the above

(E) Noneoftheabove

- EEE
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132. The perimeter of arhombusis 100 cm. If one
ofits diagonals is 14 cm, then its area is

(A) 144cm?
B) 336cm?
©) 225cm?
(D) More than one of the above

(E) None ofthe above

133. The product of two numbers is 120 and sum
of their squares is 289. Then the sum of the

two numbers is

A 23 %

® 13 S
% E

© 7 Lo

—_——
—

. (D) More than oneof the above

LS
(E) Noneofthe Sbove

134. A 120 mlong train is travelling at a speed of
90 km/h. It will cross a railway platform of
230mlongin
(A) 10sec.

(B) 20sec.
(C) 15seg.
(D) More than one of the above

(E) None ofthe above
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135." ‘The area of the ring between two concentric

circles whose circumferences are 88 cm and
132cmis

(A) 780cm?

B) 660cm?

(©) 770em’

(D) More than one of the above

(E) None ofthe above

136. 'Ihepeﬁmeterofanequ.ilateral.uiangle having
area'400~/3 sq.mis
(A) 120m

B) 90m
(©) 150m

(D) More than one of the above
(E) Noneoftheabove

137. Iftheradius and height of aright circular cone
are increased by 20%, then its volume will be
increased by
A) 72.8%

B) 40%
©) 60%
(D) Morethan one of the above

(E) None ofthe above
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138." The internal bisectors of £ A, 4 B'and A C
of a triangle ABC meet at O. If L A= 80°,
then the value of £BOCi s

(A) 150°
®B) 100°

© 130°
(D) Morethanone ofthe above

(E) None ofthe above

139. On an amount of money the difference
between simple interest and compound
interestis ¥ 15 in 2 years at the rate of interest
5% per annum. Then the amount is

(A) T6,000 =7
B) 5500 P
©) %5000 ==
D) Morethan%’ﬁ;‘?ﬁ?f the above
(E) Noneofthe above

=5 5

il

140. Atankhastwotap—sAa;ldB. TapAcanfill it
in 5 minutes and tap B can make it empty in
10 minutes. If both the taps areopen
simultaneously the tank will fill in
(A) 10minutes
(B) 14 minutes
(C) 16 minutes

(D) More than one of the above

®

None of the above
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141; -A train passes a pole in 8 seconds and a
platform of 120 meter long in 20 seconds:

‘The length of the train is
A) 80m

®)  150m
©)
D)

®

120m

More than one of the above

None of the above

142. Inaparallelogram

\(}.a)‘ Opposite angles are equal
(B) Only two sides are parallel)t

K

()
®)

\ -

Opposite sides are equal

More than one of the above

None of the above

~ 143. Presentpopulation of a townis 1,76,400.If
the rate of increase is 5% per annum, its

A ?POI?UlaFi°n aftertwo years will be
@) 190,000
B) 1,94,481
©) 2,00,000

D)
(E) None ofthe above

More than one of the above



‘ Rl
144. Thesimple interest of principal is 10 ofitself

after 4% years. Then the rate of inFe;est is
A 20%

B)
©

D)
“(E) None of the above

5%
10%

More than one of the above

2 men and 3 boys can do a work in 6 days
and 8 men and 5 boys can do this same work
in 2 days. Working ratio of a man to a boy is

145.

(A).' 1:2

146. A cone, a hemispher% anZ;i a cylinder have
same base and equal height. The ratio of
volumesis

(A) 3:2:4
)
©
(D) More than one of the abéve

)

1:3:2
1:2:3

None of the above
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147. Number of years required for the compound
interest of ¥ 1,000 at the rate of 10% to

become ¥ 210is
(A) 4years
®)
©
®)
®

3 years
2years - _
More than one of the above

None of the above

Ifthe interior angles of a regular polygon are
ten times of its exterior angles, then the sides

of the polygon are

A 12

B) .22

© 18

(D) More than one of the above

E)

148.

None of the above

After the rebate 0 12.5% on the selling price
of ¥ 12,560. The goods should be sold at

(A) T 11,000

B) T 10,990

©) 12,000

(D)  More than one of the above
(E) None ofthe above

149,

150. Two chords of a circle of radius 8 cm are

6 cm each. If one chord is at a distance 3.5
cm from the centre, then the other is at a

distance of
(A)
(B)
©) 4cm

(D) More than one of the above
(E) ' None of the above

Scm
3.5¢cm
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